SWSIMIIY OF PENTECH ﬂlﬂ'llME

Make:

Model:

Product:

Subaru
2005-2009 Outback

Light Conversion

PACKAGE CONTENTS

TOOLS

QTY

QTY

Light Conversion Bracket

8 | 1/4" Lock Washer

1/4"- 20 Carriage Bolts

Flat Head Screwdriver

1/4"- 20 Hex Nut

Phillips Screwdriver

0] foe] [oe] | 8]

1/4" Flat Washer

7/16" Socket or Wrench

INSTALLATION INSTRUCTIONS

i |- o
L=

access to the area behind the foglight.

Carefully remove the plastic fasteners to gain

Carefully pull wn the splash gard.

Carefully remove (2) plastic rivets from the fog light
cover to release the bottom of the fog light.

3

Unplug the foglight by depressing the tab on the
connector and carefully sliding the connector off.

4

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold
as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system
(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech
Automotive, assumes no liability for injury, loss, or incidental or consequential damages in the event of a collision or roll over.

Rev. 8/20



Lastly, remove the (2) nuts holding the top of the
foglight in using a 10mm socket wrench.

Insert (2) Carriage Bolts into the square holes at the top of
the brackets like shown. Ensure the bolts don't fall out by
taping the heads to the bracket.

5 6
S E - R
Insert the foglight assembly in the reverse order as the removal
of the factory light. It may take a few tries but the top two bolts
should slide through the factory holes and then you can fasten
them down using (1) 1/4” Flat Washer, (1) Lock Washer and (1)
7 Hex Nut on each bolt. 8

Insert (2) Carriage Bolts in the bottom holes in the fog
light bracket through the open space behind the fog light.
Fasten them using (1) 1/4” Flat Washer, (1) Lock Washer,
and (1) Hex Nut.

9

Completed assembly.

10

DISCLAIMER FOR RALLY INNOVATIONS PRODUCTS: Buyers assume all risk and liability whatsoever for the installation and the use of Rally Innovations products. Rally Innovations products are sold

as decorative accessories and should not be relied upon as protection for the vehicle or occupants in the event of a collision or roll over. Vehicles equipped with a supplemental restraint system

(air bag) deployed by impact should not be modified by any aftermarket Light Bar or Skid Guard without first consulting the vehicle manufacturer. Rally Innovations, a subsidiary of Pentech
Automotive, assumes no liability for injury, loss, or incidental or consequential damages in the event of a collision or roll over. Rev. 5/21



